DS 3. Corrigé.
Exercice 1

A(-17;25) ; B(14;-3) donc AB(14+17;-3-25) = AB(31;-28)
D(2:14) ; C(32:-14) donc
DC(32-2;-14-14) = DC (30;-28)

AB # DC donc ABCD n’est pas un parallélogramme.
Exercice 2

1° On lit sur le graphique : L'i(2;1) et \7(0; —3)

3°a. i (2;1) et #(0;-3) donc

2ii —lv(2x2;2x1—lx(—3)j = 2ﬁ—lv(4;zj
2 2 2 2)|

b. E(x—?);y—l)

c. Comme AB =2ii —%17 {

x—3=4 x=7
y—1=3,5 y=4,5

B(7:4,5)

Donc

o = (n S0 I PO B o
4 u(2,1) etv(O, 3) donc 2u+3v( 1; 5 4)‘

Donc —~ii +fv(—1,-—4,5)
23

Posons C(x;y) on obtient R’(x—S; y —1)

— 1. 4._ {x—3=—1 {x=2

Comme AC=——u+—v =
20 3 |y-1=-45 " |y=-35

Exercice 3
1°A(x)=(x+2)(x+1)+(2x—5)(x+2)
A(X)= x> +x+2x+2+2x* =5x+4x-10
A(x) =3x% +2x -8
B(x)=(x+5)(3x-1)=(2x+1)(x+5)
B(x):3x2—x+15x—5—(2x2+10x+x+5)

C(2;-3,5)

B(x)=3x2—x+15x-5-2x2-10x—x—-5=x2+3x-10

C(x) :2(2x—1)(x—3)—x+3

C(x)=(4x-2)(x=3)-x+3
C(x)=4x2=12x-2x+6-x+3=4x2-15x+9
2° A(x)=(x+2)(x+1)+(2x-5)(x+2)

A(x) :(x+2)(x+1+2x—5)

A(x) = (x+2) (3x—4)|
B(x)=(x+5)(3x-1)=(2x+1)(x+5)
B(x)=(x+5)[3x~1-(2x+1)]

Vérifications :

(x+2)(3x—4)=3x2-4x+6x-8
=3x2+2x-8 OK
(x+5)(x=2)=x2-2x+5x~10
=x2-3x-10 OK
(x=3)(4x-3) =4x2-3x-12x+9
=4x2-15x+9 OK

B(x)=(x+5)(3x-1-2x-1)=(x+5)(x-2)
C(x) :2(2x—1)(x—3)—x+3

C(x) :2(2x—1)(x—3)—(x—3)
C(x)=(x=3)[2(2x~1)~1]
C(x)=(x=3)(4x=-2-1)=(x-3)(4x-3)|




